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Note : Answer all the questions.

1.	 Answer any one of the following questions in 30
about 1000 words.

(a) Differentiate between behaviouristic and
cognitive views of learning. Discuss salient
characteristics of various forms of learning
with examples.

OR

How is learning different from 'non-
learning' ? Suggest the methods to develop
writing skills in the children for enhancing
learning. Illustrate your answer with
suitable examples.
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Answer any one of following questions in about 30
1000 words.
(a)	 What are the basic principles to be kept in

mind before starting remediation for
children with learning disabilities ? Suggest
the strategies that you would adopt as a
teacher for helping children having
problems related to reading and writing.

OR

Describe Maslow's hierarchy of needs
suggest the motivational techniques that can
be used by a teacher to motivate learners
for learning. Give suitable examples.

Answer any four of the following questions in 40
about 250 words each.

Suggest four ways to identify childrens
interest in learning.
What are the physiological factors that can
hamper learning ? Give examples to
illustrate your answer.
In the context of effective communication,
what is the role of 'modelling' ?
List the typical handicaps that a child with
cerebral palsy faces.
List the considerations to be kept in mind
while structuring a time chart.
What is the role of 'attention' and 'retention'
in the learning process ?
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